L i L
P2 L
Ny Mxgs P Saf
W T 3
T2 °  °p - y T
' 7 |= 2 4] oy ‘ ‘
v | 4 I T T i’ i
: . < | : ==l || ==
epe L i T N B
o o == |
Wz Wi .
HRC FN Series
. AR BB R T (mm) & R~ (mm) & E R ~F(mm) TEATR (KN) EFHEAE (Nm) =8 i
B SR BSE8 15
H Wz [ Wi | Hi P Dxdxg1 w L Li hz P1 Pz | Mx@z | M1 N N1 N2 Na E S Sz Sa S4 c Co Mro | Mpo | Mye | JBEE(Q) |iBEh(a/m)
HRC 15 FN 24 14 15 15 60 | 7.5x4.5x5.3| 47 55.5 1403 | 20.7 | 30 38 MEx7 | M4 7 M3xé.5 M3xé P3 25 4.5 75 7.8 8.9 29 17.5 140 105 105 174 1290 HRC 15 FN
HRC20FN | 30 [21.5| 20 | 20 | 60 | 9.5x6x85 | 63 | 69 | 52 | 25 | 40 | 53 | Méx10 | M5 | 10 | M3x7.5 M3x5.5 | P4 10 3 9.4 9 9.7 | 17.1 | 300 | 325 | 230 | 230 296 2280 HRC 20 FN
HRC25FN | 36 [235| 23 | 23 | 40 Mx7x9 | 70 [ 812|622 | 30 | 45 | 57 | M8x12 | M& | 12 | Méx7.5 M3xa.5 | P4 12 8 | 123 | 11.6 | 126 | 248 | 425 | 540 | 385 | 385 424 3020 HRC 25 FN
HRC30FN | 42 | 31 | 28 | 27 | 80 | 14x9x12 | 90 | 955 | 715|352 | 52 | 72 |MIOx15| M8 | 146 | Méx8.5 Méx5 P5 12 | 75 12 | 148 | 145 | 328 | 537 | 845 | 565 | 545 1110 4380 HRC 30 FN
HRC 35 FN 48 33 34 37 80 14x9x12 100 |111.2( 86.2 | 40.4 | &2 82 |MIOx15| M8 | 146 Méx10 Méx7 P5 12 8 15 17.4 | 18.1 45.9 | 829 | 1700 | 1080 | 1080 1550 6790 HRC 35 FN
HRC 45 FN 60 | 375 45 32 | 105 | 20x14x17 | 120 [135.5|102.5| 50.7 | 80 100 |MI12x18|MI10| 19 |PT1/8x12.5 Méx10.5 P5 14 11.1 18.1 173 | 17.3 | 71.3 | 122.1 | 3200 | 19210 | 19210 2747 10530 HRC 45 FN
HRC 55 FN 70 |435| 53 | 46 | 120 | 24x16x18 | 140 |155.6|118.6| 58 | 95 | 116 [M14x20|MI2| 20 [PT1/8x14.5 | MéxI25 | P5 14 12 | 19.5 | 285 | 29.5 | 103.4 [ 173.1 | 5030 | 3120 | 3120 | 5240 14060 HRC 55 FN
HRC FL Series
HRC 20 FL 30 |21.5]| 20 20 60 9.5x6x8.5 63 872 | 70.2 | 25 40 53 | Méx10 | M5 | 10 | M3x7.5 M3x5.5 P4 10 & 9.4 18.1 188 | 204 | 385 415 | 3%0 | 3%0 504 2280 HRC 20 FL
HRC 25 FL 3 |235| 23 | 23 | 40 Mx7x9 | 70 | 105 | 86 | 30 | 45 | 57 | M&x12 | Mé& | 12 | Méx7.5 M3x65 | P4 12 8 | 123|235 | 245 | 307 | 575 | 735 | 710 | 710 870 3020 HRC 25 FL
HRC 30 FL 42 31 28 27 80 14x9x12 90 118 94 | 352 | 52 72 |MIOx15| M8 | 16 | Méx8.5 Méx5 P5 12 7.5 12 257 | 258 | 3%9.6 | 702 | 1105 | 950 | 950 1385 4380 HRC 30 FL
HRC 35 FL 48 33 34 32 80 14x9x12 100 |136.6(111.6| 40.4 | &2 82 |MIOx15| M8 | 16 Méx10 Méx7 P5 12 8 15 30.1 30.8 | 54.7 [ 106.5 | 2185 [ 1755 | 1755 2000 6790 HRC 35 FL
HRC 45 FL 60 |37.5| 45 | 39 | 105 | 20x14x17 | 120 |171.5|138.5| 50.7 | 80 | 100 [M12x18|MI10| 19 [PTI/8x125 | Méx10.5 | P5 14 | 110 | 181 | 35 35 | 89.5 | 169.1 | 4430 | 3460 | 3460 | 4280 10530 HRC 45 FL
HRC 55 FL 70 | 43.5| 53 | 46 | 120 | 24x16x18 | 140 |202.5|165.5| 58 | 95 | 116 [M14x20|MI12| 20 [PTI/8x14.5 | Méx125 | P5 14 12 | 195 | 42 43 | 129.9 | 239.7 | 6965 | 5855 | 5855 | 7480 14060 HRC 55 FL
BrlchBERDHISE 2RPHEEEATEAERSAL 3. Nz B Rl E s T 4N EFERIHONBRMHART
5. Nz N H MM BT AN EFAEETA
Myfhyo FREEANTENHEDEE 0147288 HMH  MATHGZ
L) Me/Mpo E8R HRE - REER R T EE
S . AERMEEFBHOHRRRREN - Fr0RHRETHEIT
0, © @ £ 100kmWMITER « WELITEsokm B HTER R EE B
o o SRR « R R B A 00km SIETE R A C 100

Rl 26 -

20



